2 3 4 5 ! 6 7 8 9 | 0
REVISIONS
REV CMO DATE  [APPROVED
C 2007762 | 5-DEC-2000] C€D?
D | 40118634CMO  [29-SEP-2020] ODVL
ADAPTER

4% 12 FIBERGUIDE REF.
\\\\ )

(LEFT HAND CONFIGURATION
SHOWN AS REFERENCE)

0.

00

REF

—4 X 6 FIBERGUIDE REF.

SR B L sk M L
)
=

NOTES:

RTS INCLUDED WITH KIT ARE AS FOLLOWS:
) ADAPTER

) 1/4-20 SCREW

) 1/4-20 NUT

)

P
(
(
(
( RETAITNING WASHER

A
|
9
9
9

ASSEMBLY [NSTRUCTIONS:

INSERT THE (9) 1/4-20 SCREWS [INTO THE TAB HOLES ON
THE ADAPTER, ONE SCREW PER TAB, WITH THE SCREW
HEADS ON THE INSIDE OF THE ADAPTER.

| /4-20 NUT

SEE DETAIL A J
\. /
SCALE 0.300
5T Huk
= =— L~
e T

RETAITNING WASHER

TAB SHOULD BE
IN T-CHANNEL

418 REF

FGS-MDSA-FB-R-Y o" EXIT RIGHT YELLOW
FGS-MDSA-FB-L-Y o" EXIT LEFT YELLOW
FGS-MDSA-FB-R o" EXIT RIGHT BLACK
FGS-MDSA-FB-L o" EXIT LEFT BLACK
CATALOG NUMER CONFIGURATION COLOR

COMMSCOPE, INC.

2 SLIDE THE TABS WITH THE ASSEMBLED SCREWS

COMPLETELY INTO THE T-CHANNELS ON THE [2" AND 6" DRAFTER TITLE

FIBERGUIDE STRAIGHT SECTIONS. (SEE DETAIL A) e CRAIG ZELASKO 2.6 FGS SIDE IN LINE ADAPTER INST DWG
3. ASSEMBLE THE (9) RETAINING WASHERS. AND THE (9) ENGINEER oI SCALE | POCUMENT R,

[/4-20 NUTS OVER THE (9) SCREWS, AND TIGHTEN THE DETAIL A T RS A2 000 1080171 ADC

NUTS COMPLETELY. SCALE 1.000 R EVTSTON SHEET

| CUSTOMER DRAWING [p 1. or
| 2 3 4 5 + b 1 | 8 | 9 | 0




	Sheet 1
	Views
	new_view_21
	new_view_22
	main_view
	A



